RC‘ ﬂﬁ'} 70/" 703

He> #?7 avarlable
tha ,ofer 6 ard d«yl‘ef 7

Extro c/a,a‘('ef é /0rac,'(/ce
Buestions on class teh page

+ ANStoers pot gauajantee g

Paé l5hers sometimes make
mistakes



- Power

Rate at wécd. eaer,d, 15 treas ferred

C"""J» Cransfer (5 done 6; externa(
loork

PD‘OCI‘ . I‘A-('C f’jﬂt loork 1S done

P= b/t

umt s = watt (W)

P:_‘%: % = FV(O/®
4 |

?:V




et # /000 kq elevator carrres o
700 kJ /M . ‘9 ;IO.C('('MQ/ ;O/'(e d:[

Yooo A retards ,t5 motien . cuhla €
Minema A /ONdC/' maust mta/&/e lr'yer

to LIt eleva Cor at & censtaat
rate of 3,0ms?

é—'

P- Eyeos®

74"""'&1- /’( =
7= Mﬂ +Ps
7= (lockg) T Ban/st )+ Hovo



Interactive Question

A 50 kg woman runs up a flight of stairs in 5 s. Her net
upward displacement is 5 m. What power did 9@ |
woman exert while she was running?
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